A Algebra: Factorising algehralc expressions
Factorise the following:

1 6ab—2a 2 3a*h+4a

4 Yay+2xy-y 5 pr-c?

7 9842p% -2 8 (x—2)*—(x+y)?
A0 Pex—6 11 2%2-5x-12

13 ax—2a+bx-2b 14 Z2ax—-2bx+a-b

16 2ab—-8a-3b+12

B Algebra: Solving simple linear equations
Solve these equations for x:
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1 x+3.8=-12.4
4 x-2.1=6.8
7 6x-1=15

10 2(x+3)=6

x—6
3

13 -11

2 2x=15.02 3
5 % _213 6
2
+
g 24 : 9
2
11 7(x—4)=21 12
14 3.8(x+2)=114 15

C Indices: DIviding index expressions

Simplify: ,
1 x5 +x2
4 x13 .+ 3%
7 21a%? +Ta%t
10 25a%b™ + 2ab">

D Indices: Multiplying and dividing terms containing indices

Simplify:
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E Carteslan plane: Graphing inequations
1 Sketch the liney =2x + 4 and show the regions of the graph:

() y>2x+4

(b) y22x+4

(c) y<2Zx+4

2 Sketch the line y = -3 and show these regions:

(a) y>-3

(by y2-3

(¢) y<-3

Sat+ 10a
25x% - y?
xX2-3x-4
5x2+4+9x-2
ab—ac+b-c
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8(x — 4.02) =20

=-12

a4b + b

7a*b’ + 21ab
~15a%*3 + 3ab'®
360a%b® + 45a°b°
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Skill 5.6

(d) y<2x+4

(d) y=-3
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2 a(3ab +4)
Sala+2) 4 y%a+2x-1)
D-OD+ 0 6 (5x—y)5x+y)
UTabr —1)(Tab*+1) 8 -3y(2x—y)
(x—4)x + 1) T 10+ 2D -3)
(2x + 3)(r—4) 12 Gx—1(x+2)
(a + B)(x—2) 14 (2x+D(a—b)
(a+ D{b—c) 16 (2a—3)(b-4)
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